
Wheel Lock
without Attaching Hardware



Wheel Lock
without Attaching Hardware

Item
Number Part Number DescriptionNote

Quantity Per
Package Assembly

7930364-NLA NLA - Package, Locknut (1/4-20) 25 21
1016037-NLA NLA - Bracket, Mounting, Chrome - Right 1 12
1016038-NLA NLA - Bracket, Mounting, Chrome - Left 1 12
7930357-NLA NLA - Washer, Nylon (1/4 x 1/2 x 1/32") 25 73
7930367-NLA NLA - Locknut (1/4-28) 25 24

1010398 Washer, Nylon (1/4 x 1/2 x 1/16") 1 35
1007017-NLA NLA - Screw, Hex Head (1/4-20 x 1-1/4") 1 16

60274X012-NLA NLA - Screw, Hex Head (1/4-28 x 3/4") 1 27
47376X024 Tip, Rubber Wheel Lock Handle, Black 1 18

1016588-NLA NLA - Handle, Push, Adult, Chrome - Right 1 19
1016589-NLA NLA - Handle, Push, Adult, Chrome - Left 1 19
7930350-NLA NLA - Package, Hex Head Screw (1/4-20 x 1-1/2") 25 110
1016592-NLA NLA - Link, Chrome 1 111 B
1015443-NLA NLA - Shoe 1 112

1018739 Washer (1/4 x 5/8 x 3/32") 1 113
60264X010-NLA NLA - Screw, Hex Head (1/4-20 x 3/4") 1 114

1020001-NLA NLA - Wheel Lock Assembly, Chrome - Right 1 115 A
1020002-NLA NLA - Wheel Lock Assembly, Chrome - Left 1 115 A

A - Includes items 1-12  
B -  All Chairs Except Super Hemi  

NOTE:

 


